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meet

The meet operator is used to find something which has something else at a certain distance
to the right or left. For example, to find staff member and member of staff even if staff appears
at different distances from member. (meet [lemma="member"] [lemma="staff"] -4 4)

see result in Sketch Engine

To find the occurrences of volcano which have the word
summit within 4 tokens right or left, use:
(meet [lemma="volcano"] [lemma="summit"] -4 4) http://ske.li/fjd

CQL on YouTube:
http://ske.li/cqlvideo

@ CQL web guide:
X http://ske.li/fiy
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